Trig 94

Write the polar §6rm of a linear equation
Graph the polaf form of a linear equation
Convert a line@r polar equation to

rectangular fo Quiz Tues. 9]3-94

radians (\3"- rbOS(%-—Cb)
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0 R The polar form of a linear equation, where p is the length of the normal
P py - and ¢ is the positive angle between the positive xaxis and the normal, is

P Equation p =rcos (6 — ¢).
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Write each equation in polar form. Round ¢ to the nearest degree.
12.7x — 24y + 100 =0 13. 21x + 20y = 87
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Write each ezuati%n in rectangular form
7.3 =rcos(# — 60%) s
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Graph each polar equation.

24.6 = rcos (§ — 45%) 25. 1 = rcos (u - ")

=







